INABBA  mERKT ABBA & SH HitAk

LinearTech

[ B H e BT A A B 2> 7] (ABBA Linear) o7 1 1999 4F, J& 6V 58— KA WUHERR B £ F)
FESEBR PN B RN TG . B b 2R B HER R ERIBAT G 400, iR
B AR, 4 & G B R P & B8, R)T- 2000 4E5¢ =ik, 3k
ZIHE LR, s e A AR S, H AT B SRR AT RS 0 R R SR JESE,
. HA. SHE. EpE. RS,

R TAT B A7) & B br H 28RS T 2001 4 J insm ik 55 st g i i b B idg, P st dar )
100%45 e gl s 8w, FF O TR i 7300 m*. H ATE 2 E & 8 TR T s — % &
M4 ra i@ rdikl; K=/, =M. RIb. HEdb. SV IF OB P Sl 2~3 H L Ae 1t
REJ1, BHREN ) RE AL D A g IR 55

ABBA HEAL LK, ARWiE i Krs i e E55 3, e R sk SuUm st 2002
N 2004 GRS HEANRNEANK . LS TR O3 AR B AR, oAb, SEEUS A
bR 22 h A 4 B 2 FE SR M e b AZ A, UESEE B BRI e AR e SRR ) R
PR BN S B S S

2006 4F, ABBA -5 b KA Tl X B A BRE IE ol K ks B AL s F A A oy, B
NEFS AL B 2 ARV R S 577, [, ABBA FRFE RS —. LIRS IR M, %8s
BREIE TR, B T, WIVFARCR TN, S R AR S ALl oK)

R ]
Y2 A BRH-A BRH-AL
i BRH-B BRH-BL
%2267l |BRH-C BRH-CL

BRS-A BRS-AS45 7l
BRS-B BRS-BS 7
(2 s v 22 2 -
BRS-C BRS-CS
BRX-B BRX-BL
RIS RN

BRH|[ 25| A | 2 [L1200| H [ 22| 1l

PR B4

TE: ZF: BB 20: FMER  721: BHUE 72: s 73 i

Kby, N:YEg  H:Egk PoRER SPMERE#YL UP:ImTigk

SR (mm)

BRI 1 B e

WM A FIEZIBLOY B LA Co mVEZOBLE AL nKaUEAZEEU BL: ik aUE 2 ime
CL: Il LAY AS: FiUAVEZIRGUN BS: FisGvE=2IRg0l  CS: Rk ufl A

RSFHi#: 15, 200 25, 30, 35, 45. 55

WM, BRH: m4l3E BRS: k413




BRH-A fil BRH-AL H4EHE2 RS

Lmax
TR T
hid 4-MQ " >
B /4 I._J1 (S —
!
f i = e i
St = i o
L —g[ L Ll B B0
f % 1 Gt % I
T . 2z i
@ ! 1 i
—W2— g
F
" AR (o) WP RE () SHRT (o)
U5
H w w2 E L BX]J MQ X 1 Li MiTEN T1 N W1 H1 F dXDXh
BRH15A 24 47 16 | 4.6 66 38X30 | M5X8 40 $3 4.3 5 15 14 60 [4.5X7.5X5.3
BRH20A 77.8 48.8
30 | 63 |21.5] 5 53X40 | M6X9 M6 X 1 7 5 20 18 60 6X9.5X8.5
BRH20AL 92.4 63. 4
BRH25A 88 57
36 70 |23.5 7 57X45 | M8X12 M6X1 [7.85] 5 23 22 60 TX11X9
BRH25AL 110. 1 79.1
BRH30A 109 72
42 90 31 9 72 X52 |M10X12 M6 X 1 7 6.5 | 28 26 80 9X14X12
BRH30AL 131.3 94. 3
BRH35A 119 80
48 | 100 ] 33 | 9.5 82X 62 [MI0X 13 M6 X 1 8 6.5 | 34 29 80 9X14X12
BRH35AL 144. 8 105. 8
BRH45A 148. 2 105
60 | 120 |37.5] 14 100X 80 | M12X 15 M8X1. 25| 8.5 13 45 38 105 14X20X 17
BRH45AL 173 129.8
BRH55A 170 121
70 | 140 |43.5] 15 116X 95 | M14X20 M8X1.25] 10 13 53 44 120 16X23X20
BRH55AL 205.1 156. 1
s HEAFE (kel) VR (ketrm) | SH K (o) N
1
‘6‘
BVUE S | EEUE B Mx My Mz Lmax | G [ (ke) | (kg/m)
BRH15A 685 1270 7 5 5 4000 20 0.19 1.4
BRH20A 1450 2560 22 18 18 0.4
4000 20 2.6
BRH20AL 1900 3330 28.6 23.4 23. 4 0. 52
BRH25A 2140 4000 36 32 31 0.57
4000 20 3.6
BRH25AL 2996 5600 50.4 44. 8 43.4 0.72
BRH30A 2980 5490 60 50 49 1.1
4000 20 5.2
BRH30AL 3900 7190 78.5 65 65 1.4
BRH35A 3960 7010 96 75 73 1.6
4000 20 7.2
BRH35AL 5230 9270 125 95 95 2
BRH45A 6740 12100 216 170 168 2.7
4000 |[22.5 12.3
BRH45AL 8330 14950 267 210 210 3.6
BRH55A 9940 17100 367 293 288 5
4000 30 16.9
BRH55AL 12820 22060 473 380 375 6.4




BRH-B & BRH-BL RF|EHIETLEZHE T

Lmax
—4-MQ " LL1
“ > el
H i T
: % N J B 7D 1
o <
m | ! ]

A2 — -7 ¢
F
" 4 R ) (mm) THHT (mm) SHRF (mm)
45
H W W2 E L BX]J MQX1 Li AL T1 N W1 H1 F dXDXh
BRH15B 28 34 [ 9.51] 4.6 66 26X 26 M4 X6. 4 40 $3 8.3 5 15 14 60 |4.5X7.5X5.3
BRH20B 77.8 32X 36 48. 8
30 44 12 B M5 X8 M6 X 1 7 6.5 | 20 18 60 6X9.5X8.5
BRH20BL 92.4 32X 50 63.4
BRH25B 88 35X 35 57
40 48 123.5) 7 M6 X 9. 6 M6 X 1 11.8] 6.5 23 22 60 TX11X9
BRH25BL 110.1 35X 50 79.1
BRH30B 109 40 X 40 72
45 60 16 9 M8X12.8 M6 X 1 10 | 6.5 | 28 26 80 9X14X12
BRH30BL 131.3 40 X 60 94.3
BRH35B 119 50X 50 80
55 70 18 1 9.5 M8X12.8 M6 X1 15 6.5 34 29 80 9X14X12
BRH35BL 144. 8 50X 72 105. 8
BRH45B 148.2 | 60X60 105
70 86 120.5| 14 M10X 16 M8 X1 18 13 45 38 105 14X 20X 17
BRH45BL 173 60 X80 129.8
BRH55B 170 75 X175 121
80 | 100 |23.5] 15 M12X19 M8 X1 20 13 53 44 120 16 X23X20
BRH55BL 205.1 75X95 156. 1
i HAf (kgh) WHE S (kgf*m) | S5 (mm) o
e
FRAE ey | BhAIE Sifer [ Mx My Mz Lmax | G [IFHe(ke) [ FH(kg/m)
BRH15B 850 1650 10 8 8 4000 20 0. 21 1.4
BRH20B 1450 2560 22 18 18 0. 31
4000 20 2.6
BRH20BL 1900 3330 28.6 23.4 23.4 0. 47
BRH25B 2140 4000 36 32 31 0. 45
4000 20 3.6
BRH25BL 2996 5600 50. 4 44. 8 43. 4 0. 56
BRH30B 2980 5490 60 50 49 0.91
4000 20 5.2
BRH30BL 3900 7190 78.5 65 65 1.2
BRH35B 3960 7010 96 75 73 1.5
4000 20 7.2
BRH35BL 5230 9270 125 95 95 1.9
BRH45B 6740 12100 216 170 168 2.3
4000 | 22.5 12. 3
BRH45BL 8330 14950 267 210 210 2.8
BRH55B 9940 17100 367 293 288 3.9
4000 30 16.9
BRH55BL 12820 22060 473 380 375 5




BRH-C & BRH-CL RAEA B EZEHLSH

—— B Lmax -
e Mx - 1
W ~4-20 . L1 ..
r—B ? 2 =G =
] T — ‘_I'LI'_{ =
i T 111 10 et
- [-L!_! '@/. ¢ /\@,_g/_!f ) il B I | '
Mz I '\J I PF I | sl | |
e || L | 5T Pt Y i b= ¥ 'i_//
i1 1 i it T */1 =
1] | My ) | | s Ll_|_l .
— W2 W | afe!
kL 3 o
. HAERSE () WHASS (mm) SR ()
] 5
H| w |w]|E L BXJ | MQX1 Li WA | 71| N | wi | HL|F dXDXh
BRH15C 24 | 47 | 16 [4.6| 66 |38x30| o4.5x8| 48.8 | Mex1 | 5 |[6.5] 15| 14 [ 60 [4.5x7.5%5.3
BRH20C 77.8 48.8
30 | 63 [21.5] 5 53X40 | $6X9 M6x1 | 5 [6.5] 20 | 18 | 60 | 6x9.5x8.5
BRH20CL 92. 4 63. 4
BRH25C 88 57
36 | 70 [23.5] 7 57X45 | &7x12 Mex1 | 5 [6.5] 23 | 22 [ 60 7X11X9
BRH25CL 110. 1 79.1
BRH30C 109 72
42 |90 | 31| 9 72x52 | d9x12 Mex1 | 7 [6.5] 28 [ 26 [ 80 | 9x1ax12
BRH30CL 131.3 94.3
o = HEARME  (kgf) KVFHR I (kgf*m) Z 244 (nm) e
5
HHE S | FAUE SR | Mx My Mz Lmax G (kg) (kg/m)
BRH15C 850 1650 10 8 8 4000 20 0.19 1.4
BRH20C 1450 2560 22 18 18 0.4
4000 20 2.6
BRH20CL 1900 3330 28.6 23.4 23.4 0.52
BRH25C 2140 4000 36 32 31 0.57
4000 20 3.6
BRH25CL 2996 5600 50. 4 44. 8 43.4 0.72
BRH30C 2980 5490 60 50 49 1.1
4000 20 5.2
BRH30CL 3900 7190 78.5 65 65 1.4
~ ‘\ RYA
BRS-A&AS RINKHAIHEZEHL T
* Lmax *
Nt L M- L
|:J1 F—L1— — —
! b Ll
. HE HIEH = % r
- S i 1% ]k ) iy
[ I ({ AHIGE ' E-He— C/ /1
) gt Nk
] : i L, K
W2\ | —l—@.;j
F
" YA RE (mm) WHRE (mm) SEGE (mm)
B
H W[ we E L BX]J MQX 1 Li WAL | TL | N | WL [ HL F dXDXh
BRS20AS | 28 | 59 |19.5| 5 57 49 M6X7 28 | Mex1| 5 |6.5| 20| 18 | 60 |6x9.5%8.5
BRS25A 88 |60%35 57
33 73|25 | 7 M8X9 M6x1 | 4.8 6.5 23 | 22 [ 60 | 7x11x9
BRS25AS 62.5 | 60 31.5
. ARG ST (kgf) KVFEEISE (kgf*m) | S HHRE EEN
5
BNRUE AT | HREUE ST | Mx My Mz | Lmax | G (kg) (kg/m)
BRS20AS 830 1470 12.6 | 10.3 | 10.3 | 4000 [ 20 0.17 2.6
BRS25A 2140 4000 36 | 32 | 31 0.5
4000 | 20 3.6
BRS25AS 1190 2230 20 |17.5 | 17.2 0.33




BRS-B & BS RIKABETLIEZHL SN

Lmas
m N ;
W ~4-MQ L N
B - 5 = 1 — —C
] b ] ]
T i LR
§ 0 WO\ M B 'H J 9D
Gez,| G | [ |
L "H Pat. = : K s
! uj My | 1] L
2t +dcl
i
e HA RS (mm) WH RS (mm) SHRSF (mm)
552
Hlw |w]|E L BXJ MQX 1 Li gl [T N |wifm]|F dXDXh
BRS15B 66 | 26 Xx26 40
24 | 34 [9.5 |46 M4X5. 6 3 |4.3] 5 | 15| 14|60 |4.5%7.5%5.3
BRS15BS 47.6 | 26%- 21.6
BRS20B 77.8 | 3232 48.8
814 |11]| 5 M5 X 7 M6x1| 5 |6.5] 20| 18| 60| 6x9.5%8.5
BRS20BS 58 32X~ 28
BRS25B 88 | 35%35 57
BRS25BS | 33 | 48 [12.5] 7 | 62.5 | 35%- | mM6x8.4 | 31.5 |mex1|4.8|6.5] 23 22|60 7x11x9
BRS25BL, 110.1 | 35%35 79. 1
BRS30B 109 | 40x40 72
BRS30BS | 42 | 60 | 16 | 9 | 75.6 | 40x- [msxi1.2| 38.6 |Mex1| 7 |6.5] 28| 26|80 9xi4x12
BRS30BSL 131.3 | 40x60 94.3
BRS35B 119 | 50x50 80
BRS358S | 48 | 70 | 18 | 9.5 84.7 | sox- [msxi1.2| 457 |Mex1i| 8 |6.5] 34| 29|80 | 9xi4x12
BRS35BL 144.8 | 50x72 105. 8
BRS45B 148.2 | 60%60 105
60 | 86 [20.5] 14 M10X 14 M8Xx1|8.5| 13 | 45 [ 38 | 105 14x20x17
BRS45BL, 173 | 60x80 129. 8
BRS55B 170 | 75%75 121
68 | 100 [23.5] 15 MI2X 15 M1 | 8 | 13| 53] 44 [120] 16x23%20
BRS55BL, 205.1 | 75%95 156. 1
w o FEA A A (kgf) RV S (kg f*m) Z25 44 (mm) 5 =
= —1 s
Fge s | EEUE ST | Mx My Mz Lmax G (kg) | (kg/m)
BRS15B 850 1600 10 8 8 0.17
4000 | 20 1.4
BRS15BS 510 950 6 4.8 | 48 0.1
BRS20B 1450 2560 99 18 18 0.26
4000 | 20 2.6
BRS20BS 830 1470 22.6 | 10.3 | 10.3 0.17
BRS25B 2140 4000 36 32 31 0.38
BRS25BS 1190 2230 20 175 | 17.2 | 4000 | 20 [ 0.21 | 3.6
BRS25BL, 2996 5600 50.4 | 44.8 | 43.4 0.53
BRS30B 2980 5490 60 50 49 0.81
BRS30BS 1595 2940 32 27 27 4000 | 20 | o0.21 | 5.2
BRS30BSL 3900 7190 78.5 | 65 65 1. 06
BRS35B 3960 7010 96 75 73 1.2
BRS35BS 2260 4000 54.5 | 42.5 | 41.5 | 4000 | 20 | 0.8 7.2
BRS35BL 5230 9270 125 95 95 1.6
BRS45B 6740 12100 216 170 168 2.1
4000 |[22.5 12.3
BRS45BL 8330 14950 27 | 210 | 210 2.6
BRS55B 9940 17100 367 | 293 | o288 3.6
4000 | 30 16.9
BRS55BL 12820 22060 473 | 380 | 375 4.6




BRS-C & CS RINRABEHF EZHL T

HAERSE (mm) WEHE (om) SHRSF (mm)
LU=
H w | we | E L BX]J MQX 1 Li el | T1 | N [ wi[mHm | F dXDXh
BRS20CS | 28 | 59 |19.5]| 5 57 49 05.5X7 28 |Mex1| 5 [6.5] 20| 18 | 60 [ 6x9.5%8.5
BRS25C 88 | 60X35 57
33 | 73 | 25 | 7 @7 X9 M6X1|4.8]6.5]| 23 | 22 | 60 | 7x11%9
BRS25CS 62. 5 60 31.5
HAf (kgf) KFEE S (kgf*m) | 2% 54 (um) A
LU=
FFGE AT | FRUE AT | Mx My Mz Lmax G (kg) (kg/m)
BRS20CS 830 1470 12.6 | 10.3 | 10.3 | 4000 20 0.17 2.6
BRS25C 2140 4000 36 32 31 0.5
4000 20 3.6
BRS25CS 1190 2230 20 | 17.5 | 17.2 0.33
BRX-B & BL RIMKAZETELEL T
Lmax
N I
L~ 4-MQ L1 -G
il ]
| |
us IR i ?D
@ T 4M0 I
2 . : <
’ | | iF
y
VA2 . =7 O
=
J HE RS (mm) WHORSE (mm) SHRE (mm)
LU
H W W2 E L BXJ | MQX1 | Li [ ¥l | Tt [ N | WL [ HL | F [dXDxh
BRX25B 88 | 35%35 57
30 | 48 |12.5| 7 M6 X 9. 6 Mex1| 5 |6.5] 23 | 22 | 60 |7x11%x9
BRX25BL 110.1 | 35%50 19.1
» FeAA g (kgf) VPRI (kgf*m) Z2Z 4045 (mm) HOR
n o5
BEE s | RAE B Mx My Mz Lmax G (kg) (kg/m)
BRX25B 2140 4000 36 32 31 0.4
4000 20 3.6
BRX25BL 2996 5600 50.4 | 44.8 | 43.4 0.5




